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o m=5¢g 44,6403 x2H x52 4,643
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22| 35,000 33,856 144
JIBEAIE S X0 (D] EHAI A A 35,000 33,856 L 144
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ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
HEZ=HIs4H 18,272,500 18,839,420 A 566,920
sZLEIIS =4, 29 18,272,500 18,839,420 A 566,920
sgYNdIIZ2 =4, 2Y(sgyY SgslH) 18,272,500 18,839,420 A 566,920
=gl 29 153,540 243,750 A 90,210
201 L EL2 | 2,100 2,310 A 210
01 At 2teltl 2,100 2,310 A 210
O=ggdIliza fIds &4 70,0003 *10H 33| 2,100
202 04 8l 1,440 1,440 0
01 =Ll 1,440 1,440 0
OMPFE AEHZAF O] 20,000& »72& 1,440
307 glz2tol & 150,000 240,000 290,000
08 OIXMtENS 150,000 240,000 A 90,000
OO0l E2EdZ K& 150,000, 000& 150,000
sgedIIg B 14,000, 000 17,850,000 23,850,000
706 JIEtLH S 1 cH 14,000, 000 17,850,000 A 3,850,000
03 Mg 3 14,000, 000 17,850,000 A 3,850,000
OXg= 14,000,000, 000& 14,000, 000
ol Bl bl 1,018,960 745,670 273,290
801 Ol Bl HI 1,018,960 745,670 273,290
01 &etalblbl 1,018,960 745,670 273,290
(©Ju(}=§:]! 1,018,960,000& 1,018,960
sPLEII= X 3,000,000 0 3,000,000
501 8 Xt= 3,000,000 0 3,000,000
01 eItsXt= 3,000,000 0 3,000,000
O=g3gdEII=z 83 3,000,000, 000& 3,000,000
FOUH 58 S2AY 100,000 0 100,000
402 QIZ2t 201 & 100,000 0 100,000
01 QI 2AEE X 100,000 0 100,000
O=x2He =8 S2AY 100,000, 000& 100,000




